B. Se. (Home

Science)/B, Se. ( Maths/Bio.)/
B. C. A/B. Com./B. B. A. (First Semester)

Generic Elective Course (HNGE-01)
EXAMINATION » Dec./Jan., 2024-25

HINDI

(o= Wity @ sferw)

Time : Three Hours

Maximum Marks =70

e . B geEl & SR AR B

GUE—3I|
1. Ficiad qegfies sl & S AR (@ )
10x1=10
GIARKIE | I

P.T.O.



2.

}2] AH-5127
(ii) A FR A Fed & 7
i) o Rig il @ am fafag |
(iv) 'UgEEd’ @ TEAOR P A R
) FERET o B TS BT A ?
i) R § @ R3S § ?
(vii) SreeT Yy foad) a8 ?
(vii) [EM B R TH BT BT AW
ferfag | :
(ix) " @ O fba B BT del o & P

x) ‘aIHe X @ wETe 5 Bfd B e € ?

(xi) R 4R @ @ B @ A R
(i) ‘RER GawE B TR BIF & ?
fPyfed & wftra SR fakeg @15 ) :

‘ _ 5x4=20
() R aRa @ Fmaxe W) gHe sl
(i) g Ot w fewddt B |

[2] AH-5127
Giiy  Frfor wfama ) wmE)
(iv) MTgar wrearr &1 o $if
(v) Y G RERT B Hiera S fafan )
(vi) oYM @ GH=AE] Bid F41 wal o

2 ? we Fifeu |
wii) R wifec & siem 5 faer @1 wH @
Hgcd gdist |
2§
e : Wi ¥ ' B 4x10=40

2 R iR & oRied G @ T e o
uiF PIT

3rRIa
R e S § SRS BT AR
B | ‘
4 fewTeld @ A JgREl R Yo Sifer |
3Rl
gedRTl WY S HETHI @1 aUf BT |

P.T.O.



- [4] AH-5127
5. it @ RN wiRker a1 w@oRpT we o
g1 W Py |
3rerar
WO 9AIURT BT AN el bYd gY D!
ﬁﬁw"’my
6. ﬁﬁwmqﬁméﬁgqﬁaﬁa‘smﬁ@
T e AR | | 5
arerar
“SqTT & B 4 O ded P TEEAT 7 |y
SISV | |

AH-5127 | o 2,190
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AH-5124

B. Sc. (Home Science)/B. Sc. (Maths/Bio.)/
B. C. A./B. Com./B. B. A. (First Semester)
Generic Elective Course (ENGE-01)
EXAMINATION, Dec./Jan., 2024-25

ENGLISH
(Introduction to the Study of English Literature)
| Time : Three Hours
Maximum Marks : 70
Note : Answer all questions.
Section—A

1. Answer all very short answer type questions :
10x1=10

(1) What is the meaning of ‘Sonnet’ ? |

(ii) How many sonnets did Shakespeare write ?

(iii) Write name of one Biography.

(iv) Who is known as the Father of English

Essays ?

(v) Whatis Farce ?

(vi) Who is the hero of ‘Abhigyan Shakuntalam’ ?
P.1.0.



[2] AHSS1Z4 [3] AH-5124

(vii) Who is the heroine of Pride and Prejudice ? Or
(viii) Who wrote Macbeth ? Describe Wordsworth as a nature poet.
(ix) Who is the author of The Guide ? Or
(x) Who wrote under the pen name of Elia ? Critically appreciate Tagore’s Waiting.
Section—B : Or
2. Attempt all short answer type questions :  5x4=20 Discuss the theme of Sarojini Naidu’s The Autumn
(i) What is comedy of manners ? Song.
Or Or
i iousness novels ? .
Whatis seCam gt chnscious Discuss the central idea of ‘Our Casuarina Tree’.
(i) Write a brief note on Gothic Novel.
Or 4. Discuss Francis Bacon as Father of English Essays.
Define Elegy. Or
(ili) What is Tragedy ? Discuss A. P. J. Abdul Kalam as an essayist.
Or . Or
. l . -
Wite.aishost aoie o Travelogue Throw light on the prose style of Charles L===
(iv) Write in brief the theme of The Solitary . P
Reaper. T
Or Present the character skeich of Sz Foe=— —
Write in brief the central theme of Of Studies Addison.
b . : . .
y Bacon ,5. Discuss the major themes in the oiz Tre mmmmr
Section—C
of Venice.
Note : Attempt all long answer type questions. 4x10=40
Or

3. Write William Shakespearc as sonneteer. Discuss Vijay Tendull
s Vijay Tendulkar as o= Tno e o



[4] AH-5124
Or
Discuss Oliver Goldsmith as a dramatist.
Or
Describe  character  sketch of  Shakuntala
"Abhigyan Shakuntalam’.
Or

Discuss the theme of Mohan Rakesh’s Aadhe
Adhure (Half-way House).

in

Write in detail about the female characters of Pride
and Prejudice.

Or
What is the main theme -of Mulk raj Anand’s The
Untouchable ?
- Or |
Discuss Robert Louis Stevenson as a novelist.
Or |
Throw light on the character sketch of Raju in 7he
Guide.
Or

Discuss the theme of partition in Bheesham Sahnt’s

Amritsar Aa Gaya.

A0
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AH-5039

B. Sc./B. A./B. Com./B. C. A./B.B. A./
B. Sc. (Home Science) (First Semester)

Value Addition Course (PSVAC-01)
EXAMINATION, Dec./J an., 2024-25

POLITICAL SCIENCE
(Constitutional Values)
Time : Two Hours

Maximum Marks : 35
e . o uE B IR AR
Answer all questions. |
Lrs—H]
(Section—A)
1. TRIS g 5x1=5
Objective type questions :
() =T @
(1) ware g= |

P.T.O.




(i)

[2]
@ e
(W) s
@ =
Sovereignty is :
(a) Supreme power
(b) Democracy
(¢) Equality
(d) Justice
TURTSY H YIRS B 8
(o1) T
(@ wifa
(@) fraifa 7
(8) S ¥ & P T

In a republic the head of state is :

(a) Hereditary

(b) Nominated

(c) Elected

(d) None of the above

AH-5039 :
[31] ~ AH-5039

(iii) FET® AR IR JTERG & -
(@) BRIDROT W
@ fad=ier w
(@) ghERT W
@) Swfw ¥ ¥ g T

The federal system of government is based

on:
(a) Centralization
(b) Decentralization
(c) Polarization
(d) None of the above :
(v) W wfem A g o Afee IfRER
e 87 '
| | @) o

@ 5

p.t.0.

ryne ¥




[4] AH-5039

How many fundamental rights are there in the
Indian Constitution ?
(@ 4
®) 5
(c) 6
d 7
v) T R W ©
(%) damrd
@ TR ™
(@) TR e

(@) Swfw wh

Rural Local Self-government is :

(a) Panchayat

(b) Nagar Nigam

(¢) Muncipal Corporation

(d) All of the above

2. WY I T 5x2=10
>Short answer type questions : A

() e o1 el we Hifg|

Explain the meaning of constitution.

[5] AH-5039
(ii) Wb 7§ ?
What is Democracy ?
(iii) ‘TGHT BgEPT F T T G € ?

What do you mean by ‘Vasudhaiva

Kutumbakam’ ?

(iv) G SRS AT E 7

What is Parliamentary Accountability ?
(v) R @ W Y T e § 7
What do you understand by Local Self-
Government ?
grs—q
(Section—B)

Al ;. A" Iy g 4x5=20

.3

Long answer type questions :
e g @ A F |
Describe the constitutional values.
3Rqqr
(On
e @ e § R T R JeR @ "
P quiF BT |

P.T.O.




(6] AH-5039

Describe the different types of justice given in the

Preamble of the Constitution.
wRe @ wEeE waeer B Rl @
I |
Describe the features of Federal System of India.
3rRqar
(on
dada e ® @ o ffau
Write a note on Parliamentary Democracy.
e # Ry Mo ad ARER 91 W qui
I |

cribe the fundamental rights given in the

Briefly des
Constitution.
3T -
(Or)
@ iy Fde dwl | 1@ o fafag |

Write a note on Directive Principles of State

Policy.

[71 AH-5039
A T e g @ aramea @ Aed ol
NEEIE

Explain the need and importance of free and fair

elections.

41

(0
T I R UF o frag |

Write a note on Panchayati Raj.

AH-5039 4,130
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AH-5041

B. Sc./B. A./B. Com./B. C. A./B. B. A./

B. Sc. (Home Science) (First Semester)

Value Addition Course (SOVAC-01)
EXAMINATION, Dec./Jan., 2024-25
SOCIOLOGY

(Indian Tradition and Values)
Time : Two Hours

Maximum Marks : 35

Al . ol el @ SR AR

Answer all questions.
VE“E—ST‘
(Section—A)
1. 3T g ST we 5x1=5

v P' T. 0'



[21 AH-5041
Very short answer types questions :
@ ‘agia gy el O forr T e ?
Where is ‘Vasudhaiva Kutumbakam’ taken
from ?
(i) 3sH e TPR B BW © 7
How many types of Ashrams are there ?
(iii) wiaT @1 3w oew @/ E ?
What is the ultimate goal of life ?

(v) g o & AR vgen GouRf FI-W & ?

According to Hinduism, what is the first |

Purushartha ?
(v) T 9 3T FT GH & ?
What do you mean by Pratha/Custom ?
Y Swda wE 5x2=10
Short answer type questions :
G) TH@ME?
What is religion ?
(ii) TETeR ane & ?
What is Brahmcharya Ashram ?

[2] AH-5041 x

(iif) @R FgFE | o @ ww £ 2

What do you mean by ‘Vasudhaiv

Kutumbakam’ ?

(iv) WRI & 5& 3233 71 2 ?
What are the main objectives of tradition ?
(v) gourd | 3 741 e 2 ?
What do you mean by Purushartha ?
gre—9
(Section—B)
e SR 7 2x10=20
Long answer type questions :
() WRAE e W AW T O € ° R
T owE Wele JER @1 AR
AR .

What do you mean by Indian values ? Explain

the main historical mooring of Indian values.

PTO



[4] AH-5041 l
- e
(Or) '

URAR TS N e B wew ) e

PIY |

Explain the importance of religion in Indian

society.
(i) WSS EEer & wer v wWowr @ qfie
Bl W PfoY|

Explain the role of custom and tradition in

social control.
st
(br)
e Al ® § 7 R o amm
ARAT D AN HEd B Rl
P |

What do you mean by Ashram System ?
Explain the sociological importance of -

Ashram System in Hindu religion.

AH-5041

-

4,520
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AH-5123

B. Sc. (Home Science)/B. Sc. (Maths/Bio.)/
B. C. A/B. Com./B. B. A. (First Semester)

Generic Elective Course (ECGE-01)
EXAMINATION, Dec./Jan., 2024-25

ECONOMICS
(Basics of Ecohomics)
Time : Three Hours
Maximum Marks : 70

e : T Tl B SR SR
Answer all questions. ,
Yrs—3|

(Section—A) -

1. IRMS 79 10x1=10

Objectives type question : |
() fF=faiea & @ sF-1 wwe sefors @
eI 3T ® 7

@) TP BH BT g

P.T.0.



(i)

-5123
[2] AH-5

(@) eafdTd I
(|) wfa afdd o
() W PiMa 1 g

Which one of the following comes under
Macro Economics ?

(a) Studyofa firm

(b) Individual income

(c) Per capita income

(d) Theory of factor pricing

frefafea § ¥ @F-a1 w@ w9 @ P
3T (7YC) BT STV & ? ’
(@) @z A

(@) wic vd 7

@) raRes sife

@ Swd@ w

Which one of the following is an example of
fixed input of a firm ?

(a) Raw materials

(b) Plant and Mechinery

(c) Casual workers

(d) All of the above

(iii)

@)

[31 AH-5123
uRadweer argamt @ fram &1 W §
@) IeTPIferd ST G A
@ YW P wiwa & Frm
(@) S S e W
@) v

Law of variable proportions is concerned
with :

(a) Short-run production function
(b) Law of returns to scale

(c) Long-run production function

(d) All of the above

TP TG @ forg i e v B &
@) s

@) *®orcHd

@ I

@) e

. , P.T.O.




)

[4] AH-5123
For complementary goods, the cross elasticity
of demand is :
(a) Positive
(b) Negative
(c) Zero
(d) Infinite
we ol awg @ B @ fFa & § @
IR HEA ©
(@) vEeR VR
(@ FIRPR IOR
(@) FRER TR
(&) a1 THIRBR AR

. When there are only few sellers of the

commodity, the market is called :
(a) Monopoly market

(b) Duopoly market

(c) Oligopoly market

(d) Monopsony market

[5] AH-5123

vi) Frefafea & ¥ o901 o @ o waE

BT TR eI & ?
(3) e gwor
@ 3mg o
@) @@ Wy

(@ ghg =

- Which of the following is not a phase of

circular flow of income ?

(a) Production phase

-(b) Income phase

(c) Expenditure phase
(d) Growth phase

(vi)) TR T W V&R 3@ 3R g U

SR B 419 & SR P FET A @ -
@) I I N
@ 9 v | wFERRT

: )

(@) ST T g

(@) Sufw A ¥ IR T

P.T.O.
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The difference between the National Income
and the Net National Product at market price

is known as :
(a) Net Indirect Taxes
(b) Transfers from the rest of the world
(c) National Debt Transfer
(d) None of the above
(viii) “31efeTE €9 a1 g 2 17 fhe e ?

@ U A d

Who said, “Economics is a science of

wealth” ?

(a) Alfred Marshall
(b) Adam Smith
(c) J. M. Keynes
(d) A.C.Pigou

(ix) P s W57 9 @ s wean @

(69)

[7] AH-5123

P g R ?

(@) ufedt o

(@ s

(@) I fea

(@) 37 v§. 79 IR, (Aifdad )

With whose cooperation was Bhilai Steel

Plant (BSP) established ?
(a) West Germany

(b) Japan

(c) Great Britain

(d) USSR.

oiTe @ AR § PE-E X W@
feme ?

(o) fRror-gdf ed ¥

(@) afRror-ufer wa Yo

@) STR-ufEd w e

@) SeR-gd wE

P.T.O.



[8] AH-5123
Which Railway Zone is situated in Bilaspur of
Chhattisgarh ?
(a) South-East Central Railway
(b) South-West Central Railway
(c) North-West Central Railway
(d) North-East Central Railway

[9] AH-5123

(v) TUNTe ¥ 9y afm o W wew v

Rl SR B Y9y &1 i HRTY |

Discuss the trend of Per Capita Income and
Gross  State  Domestic  Product in

Chhattisgarh.
Yus—q

Y ST 4 ' 4x5=20 (Section—B)
Short answer tybe questions : L < ST T 4x10=40
() e & T € ? Wl § e Long answer type questions :
BT | : G) i ¥ q@r Wi § ? aefure @
What are the major fields of Economics ? Q?fﬁ‘[ T4 Hr-83 B AT BT |

Explain in brief.
(i) T W R INE & ? G D W@ Al B
AT BIRTY |-

What do you mean by Economics ? Explain

the nature and scope of Economics.

. AT
What is the meaning of money ? Explain the )
major functions of money. 'r R 3 f
(iii) ST § oMY T WIS & ? ST @ G}'mmaﬂ e
# 9% IRRE BT quF AT

faf=T sruRomel @ @re i

What do you mean by utility ? Explain the
various concepts of utility.

Give a brief introduction of J. M. Keynes and

describe his contribution to Economics.

a
P.T.O.



[11] AH-5123
[10] AH-5123

RIGH
(i) 3T & TDHIY ya€ T 2 ? A D g o
YaTE B AR =19 el B amen AR T B ¥ q awE % ? e
I B &) AT DI |

What is the circular flow of income ? Explain

What is the meaning of Production Function ?

the four sector models of circular flow of
Explain the long-run production function.

income.
- iv) sTE 3 e Rowm 4 PR 4 B
Arrer 1 o e |
= ' Discuss the role of agricultural sector in
U 3G W R AW 8 ? ARG A AN economic development of Chhattisgarh.
q .I’ v
3 @ W ot Rt o1 ool Bk ' Sl
' (On
What is the meaning of National Income ? , ' : . 3 ; @ e 2 &
Explain the {ns:asurement methods of National . o R & 1
freome infndia i Throw light on the possibilities of industry
(iii) " P AT X AT T GHI & 2 AT @) | and industrial development in Chhattisgarh.
P A B AT BTG | |

What do you mean by Elasticity of Demand ? 3,660

| AH-5123
Explain the Price Elasticity of Demand.
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AH-5128

B. Sc. (Home Science)/B. Sc. (Maths/Bio.)/
B. C. A./B. Com./B. B. A. (First Semester)
Generic Elective Course (HIGE-01)
EXAMINATION, Dec./Jan., 2024-25

HISTORY
[Ancient Indian H'is,tory (From |
Beginniﬁg to Satvahan Dynasty)]
Time : Three Hours

Maximum Marks : 70
e @ft uHl & SR AR

Answer all questions.

P.T.O.



e :

[2] AH-512g

qus—3
(Section—A)

T s gel @ A 10x1=10

Answer all the objective type questions.

1. RO @ e R
@) 18
@ 10
(@) 15
@ o

Th
(@
(b)
©
@

(1)
@)
@)
®

e number of Puranas is :
18
10
15
9

. TS WAl &1 g fhee e ?

RTAGEIGY AIEt
IR, . FPRR
AT

G T 99

[31] AH-5128
Who was the founder of Harappan Civilization ?
(a) Rai Bahadur Sahni
(b) R.C. Mazumdar

(¢) Maxmuller

‘(d) Rakhal Das Banerjee

JrETH 98 &
(3) WTER

@ =g

(@) e

(€) ==

The oldest Veda is :
(a) Samaveda
(b) Yajurveda
(c) Atharvaveda
(d) Rigveda

P.T.O.




[4] AH-5128
[5] AH-5128

4. e e & I ARGl D1 T fpere off 2 Who was the founder of Buddhism ?
(&) 4 (a) Mahatma Buddha
@ 16 (b) Mahavir Swami
(®) 20 . (c) Ashoka
() 24 (d) Mahanand
How many Mahajapadas were at the time of . ‘g}gﬂﬁﬂ’ » P P 47
Mahatma Buddha ? '
& (%) areg B
®) 16 @ =TT
(c) 20 (@) g
(D @) afhe
5. dig ol & wvemud B o ? i
Who was the author of ‘Buddha Charit’ ?
(o) eI & (a) AshvaGhosh
(@) werdR wrh (b) Nagarjuna
(@) o (c) Vasumitra
]) WG - (d) Agnimitra



[6] AH-5128

Who was the founder of Mauryan Dynasty ?
(a) Chandragupta Maurya

(b) Ashoka

(c) Harshavardhana

(d) Ghananand

‘sﬁaﬂ'?}ﬁ'@?ﬁﬁ:

—— S

171 AH-5128
The author of ‘Indica’ was :
(a) Megasthanes
(b) Vishnugupta
(c) Chandragupta

(d) Bindusar
o e BT STRIGR DI o1 ?

(1) oI

o

@ <A

Who was the successor of Ashoka ?
(a) Kunal

(b) Dashrath

(©) Sampra;i

(d) Dev Verman

P.T.O.




[8] AH-5128

10. g‘nﬁa%mwﬁwi?.

(@) et g

(@) w4 & R

Who was the first rules of Sunga Dynasty ?
(a) Pushyamitra Sunga

(b) Vasumitra

(c) Agnimitra

(d) None of the above

A Wit Y I I @ SR IR

5x4=20
Attempt all short answer type questions.

1. O TN ST @ HG e W e i

Throw light on the human life during Paleolithic
Age.

A > el et P el e

(91 AH-5128

TR EHE e <o @1 g S|

Discuss the economic condition during Rigvedic

Age.
RiFr & AHA B T BT U BT |

Describe the effects of the invasion of

Alexander.
Qi g @ STaREl | yore S|

Throw light on the achievements of Pushyamitra

Sunga.

GIs—d

(Section—B)

e : " Sy 4x10=40

Long Answer Type Question

1.m‘riﬁmmgﬁzmam=‘ia‘»mmaﬁa

P |

Describe the sources of Ancient Indian History.

P.T.O.




[10] AH-5128

perar
. %)

Ry e & i & amife ok arffe e

R Y19 S | ‘

Throw light on the social and economic life of

Indus Valley people.

WA §€ & SUQUl W YebreT Sifend |

Throw light (;n the teachings of Mahatma Buddha.
3rRpar
(0n

S o @ Rigrt W e S |

Throw light on the principles of Jainism.

TN @ YR 90 R 1T Sfer |

Throw light on the description of India by

Megasthenes.
Fear
(On)
I A 3 Rt &1 avf Pt

Describe the conquests of Chandragupta Maurya.

s vl

[11] AH-5128

4. 3D B 9 R R Fifm

Discuss the Dhamma of Ashoka.
T
(Or)
G B WiGRe Suarerl o1 aU B |

Describe the cultural achievements of Kanishka.

_ 1,530
AH-5128
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AH-5032

B. Sc./B. A/B. Com./B. C. A/B. B. A./

B. Sc. (Home Science) (First Semester)
Value Addition Course (MAVAC-01)
EXAMINATION, Dec./J an., 2024-25

MATHEMATICS |
(Basic Mathematics and Logic)

Time : Two Hours

Maximum Marks : 35
Ale: T Y e g |
Answer all questions.
e
(Scction—A)
HIT—I
(Part-1)

e @ g s @ s A 5x1=5

Answer all the objective type questions.

P.T.0.



— e

(2] AH-5032

(31 AH-5032

1 R A e i R T 97 9 13

, 1) =, =

&) ICICIERI] S THT

OREEINE] 1917

(®) 21719

() M=

17 13

Q) ehiforat @) 19715
Who of the following was not a famous Indian In which of the following four rational numbers,

ath ician ? . .. , o g
mathematician which are maximum and minimurm ( respectively) ?

(@) Leelawati

13 17 15 19
(b) Bodhayan 157197177 21
(c)  Apstambh - 13 19
(@) 521
(d) Galileo -
2. P ar = wemel § g a9 ok wa ®) 2,1_3
. 21*15
BT HE& (F9) P-4 B ?
19 17
1317 15 19 ©
15719717721
17 13
W 2L - @ 19713

157 21

H



3.

-

[4] AH-5032

Rl e x @Y 4 W 9% W ATHS 3 W gy
2 @ W@ 2 @ 4 W W W W Gy
g BT :

@) o

@

(®)
()

A number x is divided by 4 and the remainder is 3.
If the number 2x is divided by 4, then the
remainder will -be :

@ O
(b 1
© 2
@ 3
T @l N T 2,500 H Wb WG
22,700 § 9 | I fhaar % A I w1
&7 | e
@) 8% ™

@) 8% T

(|) 7.4% ™

w N

@) 6.2% ™

[51 ) AH-8032

A man purchased a cycle in X 2,500 and sells it in
% 2,700. What is the profit or loss % to him ?

(a) 8% profit

(b) 8%loss

(c) 7.4% profit

(d) 6.2% profit

oot Rt 13, 17, 19, e ,29, 31,37, ceoveere ,43,
47, ... 3 R F W W e G &

@) 23,41

@ 25,41

(@) 27,39
@) 23,39

In the incomplete series 13, 17, 19, ceveeee , 29,31,
Ky SR , 43,47, .... the number in the empty place

@ 23,39

P.T.O.
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(71 AH-5032
- ' 4 @R x:y=5:2,T I (8x+ ) : (Bx+ )
(Part-1T) 7 S AT
e Wi g I v B s AR 5x2=10 . Ifx :y =5 : 2 then evaluate the ratio
Answer all the short answer type questions. _ (8x +9y) : (8x +2).
1. gy R Gira R g 5. af o B8 § Y 4 aeER 17 e g 8, |
| o & 5 yRR ¥ T w9 Fer e ?

Write a short note on the ‘Shulbsutra’.

If the time in a clock is 4 hr. 17 min., then what
2. Ife Awmsi 40, 144, 104, 112, 160, 136, 184, x BT

3T 113 8, @ x & A A9 P |

will be the time in the mirror image ?
gre—4
If the average of the numbers 40, 144, 104, 112,
160, 136, 184, x is 113, then find the value of x.

(Section—B)

A ol o sty e @ SR ARl 4x5=20
3. w467 3R, 187 T ‘HH-UT F@ BN

yed 39 G&Rl @ aned of Al F-A F
B |

Answer all the long answer type questions.
TIE—1
(UNIT—1)
i i \ e e s ek @ e vl
Also write the ‘digit-sum’ of the addition of these ’
two given numbers. F 90 AEE W TE ST

Write the ‘digit-sum’ of numbers 467 and 187.

P.T.O.



81 AH-5032

Describe the biography and the contribution in
Mathematics of the great Indian mathematician
Bhaskaracharya.

e

©n

s TR @ AR < Tl 124 3R 355 BT

Tﬁﬁmmlﬁﬁmﬁmvﬁmm

Find the product or multiplication of two numbers
124 and 355 by Vedic Mathematics. Also describe
the method.

foré—2

(UNIT—2)
TRV @ @ ve Fifted & ¥ o R, 10 9§
¥ A @ o @) g e o A AR T @
SR | aReed HRG |

An amount is doubled in 10 years by a fixed rate of
simple interest. Calculate that in how many years
it, will be three times.

[9] AH-5032

ILUCH
(Or)

4000 ¥ ¥ BIA-R-BIA Bi-: e werg ol
AT F W 19 qoiean fvem @ W 7

What minimum number must be subtracted in
4000, so that the remainder number is completely
divisible by 19 ?
THE—3
(UNIT=3)

2w afe @ o, 9w @ ag B AT 9

5 9§ o &1 AR 9 a¥ ag 99 Al 91 3G,
mgaa%axq%a‘mﬁﬁwaéM?rm
2 ot < B T ST ST I |

The age of a man is 3. years more than three times

age of his son. After 3 years, the age of the man is

10 years more than the double of his son. Find the

present age of both.

P.T.O.




[10] AH-5032

3RIAl

(Or)
et & Y A o gon @@ i @ P A
SE B 21 @ B e & TS W @ D
St 0 g0 50 Ak 3, A Y A o T @

B |

A man sitting in a moving train counts 21
telephone poles in one minute. If the distance

between two poles is 50 metres, then find the

average speed of the train.

TPIE—4

(UNIT—4)

@ af o R ¥ ey g e 7 60 AR |

ae £ R T8 o <Rl oIk geaY 80 Wex
ot &1 GarEy b 98 o IR Y ~gad fead
R 3R e forem ¥ e B

A man starts walking from his home. He walks
60 metres in east direction. After then he turns right

and walks 80 metres. How minimum distance he is,
from his home ? Also find the direction of standing

of man.

[11] AH-5032

aperat
(Or)

T U B 6 G FrER Teii € -
A
cle[B][p]

F

& T B v e @ R GEE N B
FeR 3ifd 8, faRau|

The six faces of a die is shown below :

A .
c|eE|B|D
F

L

e letters opposite to each face.

Then write down th

1,890
AH-5032
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AH-5136

B. Sc. (Home Science)/B. Sc. (Maths/Bio.)/
B. C. A./B. A. (First Semester)
'Generic Elective Course (COGE-01)
EXAMINATION, Dec./Jan., 2024-25
COMMERCE

(Fundamental of Accounting)
Time : Three Hours

- Maximum Marks : 70
e : T 7o B SR SR
Answer all questions.
Lrs—3
(Section—A)
e W T g B IR ) e W 1 o
1 & foraT R 0@ @ o §

10x1=10

P.T.O.




[2] AH-5136
3] AH-5136

All questions are compulsory. Each question
. o 7. q@qe @ @ ?
carries 1 mark. Answer in 1 or 2 lines.

AGHT A Y TT GHIA & °

What is Trail Balance ?

8. fopdt Ted © 7
What do you understand by Accounting ? B

What is depreciation ?

ITe], AT B AR R 8 ?
' o e fiest #W & 7@ e € 7

Explain going concern concept.
“oAH éﬁﬁaﬂ '\'-m?ﬂ A pfee B 2 TE ﬁvm What are the objects of preparing Balance

BT STRIROT R MEIRA & ? Shieet.?

. . ¥ Gl ?
“Every debit has equal credit.” Which concept this 19 R

rule is related ? What is Suspense Account ?

i I @ S W | e - ) U T O SR &) T 5 4 3
What are the purposes of Accounting Standards ? _ﬂ X 5%4=20
R R ER B 89§ 7 ‘ All questions are compulsory. Each question
Which are the types of Accounts ? - carries 4 marks.

Agad) € 7 | N Maﬂa@mﬁ@a‘maﬁm\
What is Cash Book ? Explein any four \ccounting principles.

P.T.0.



[4] AH-5136

M @M Al Awead @ € ? g9 A AT

; . .
What is threec column cashbook ? Give its

specimen.

e TR B A € 7 v Wn @ fe
T $feT W B 9w IeRRT wiRg GwEsy|

Which are types of Accounts ? Give the rules of

debit and credit of each account with example.
A-BI @ R fed ¥ @ giox }

What is the difference between a Profit & Loss
Account and Balance Sheet ?

AP B &F N FIER BT T 48 & ?
What is the importance of computer in the field of
accounting ?

gre—¢q
(Section—B)

A ot yE gd @ e € e ye

10 3d & 2 TP WE QA UH YT B
I | 4x10=40

[5] AH-5136
All questions are compulsory. Each question
carrics 10 marks. Attempt one question from
cach Unit.
gPlE—1

(UNIT—1)

1. é@maﬁwmmﬁwqmﬁﬁmm

AT € ?
What do you understand by basic concepts and
conventions of Accounting ?

a1

(Or)
< 3 e T @ e Al 3 T R D
ATeH T 30 DI |

Describe the major contribution of Shree K. S.

Ayer in India.
TPR—2
(UNIT—2)

yffen a3 @ 3 B o @ gEwl A

RIS DTS -

P.T.O.




[6] AH-51
36 (71 AH-5136

feamar
' ® Prepare Journal in the books of K. K. Company
2023 from the following transactions :
I §h damm e fer 50,000 Dicenber, ®
' . 2023
6 I3 W v fa 20,000
8 1 Started business with a
T A e 4,000 | capital 50,000
9
M B feam 1,980 6 Deposited into Bank 20,000
S dekd , 20 8 Purchased goods for cash 4,000
10 g fast 3,000 9 Paid to Ram 1,980
12 T Y e T 2,000 Discount allowed by him 20
£ 1 C 0
22 ?T?b' 3 . 2 000 10 ash sales 3,00
. 12 Sold goods to Hari for cash 2,000
25 WP dS e far 500
59 e 22 Drew from Bank 3,000
- ferg ~ 25  PaidtoRam by cheque 500
' 300 27 Drew for personal use 300
31 9 UG [T A
b ’ ' ' 31 Paid Salary and Rent

% 1,000 ¥4 100 fear ‘ Z 1,000 and T 100

respectively

P.T.O.



[81] AH-5136

3rqar
or)

B X % @ A w 1-5-2016 BT T 50,000 F |

@] T 11,000 S W TG 2 5,000 FHA

TN W, W 30-6-2016 B T gaN, A fbar|

BN I AW W 15% B X W "ed A |

Tgfd ¥ 9 Y A g9 B Fawen wwad ¢ G
7 s v & @ T on SR STl TRie
TG 9 31 A" B g w3 WA @l
31-1-2019 aﬁ?11,oooﬁéaﬁmw§ﬁ?%l,ooo
TN B T- gHRT | ’

2016-17 X 2018-19 TP T HLA G TS |

Mr. X purchased a secondhand machinery on
1-5-2016 for ¥ 50,000, paid ¥ 11,000 for its
overhauling and ¥ 5,000 for its installation which
was completed by 30-6-2016. The company
provides depreciation on its machinery at 15% on

diminishing balance method from the date it was

[9] AH-5136
put to use and closes its books on 31st March every
year. The machine was sold on 31-1-2019 for a
sum of ¥ 11,000 and an amount of 1,000 was paid
as dismantling charges.

Prepare  Machinery Account from 2016-17 to
2018-19.
™R3
(UNIT—3)
e figr, @mRe @1 T4 aM-gi @ @
T AR & ? g Y g o § 2
What is meant by Balance Sheet, Trading Account

and Profit & Loss Account ? Why are they

prepared ?
JREr
On)
PR ol @1 GeR R -

Serr @) € 350 @1 A a4 T, R 7@
3 7530 forg few I

@




[10] AH-5136
(if) N A 2 1,450 F1 wy Rear T g 9 9
% % 1,50 wamm wm

(iii)Wﬁ%lszmwémwﬁﬁﬁﬁ
T8 A 2 125 &1 oRar ey Ty

(iv) T T8 2 1,000 ¥ T g A T2

V) I @ 9T Rrw 2 1,000 Ry T RR
Ammﬁﬁnﬁ@ﬁﬁéﬁzmﬁmvm

Rectify the following errors :

(i) Goods sold to Vaidyanath Z 350 were entered
in tﬁe Sales Book as ¥ 530.

(ii)) Goods purchased from Moti % 1.450 were

posted in the Purchases Book as ¥ 1,540.

(iii) Goods sold to Narayan for ¥ 152 but were
recorded in the Sales Book as ¥ 125.

(iv) Purchase Day Book was undercast by Z 1,000,

(v) T 1,000 paid to Ram for salary was debited to

his Personal Account.

T RV R R

(1] AH-5136
FPT—4
(UNIT—4)
AP oraidT wghl @1 uRfim Fifkw
T TN Pelipd o TERt 4w
ERIEN

Define ‘a Computerized Accounting ° System.
Distinguish between Manual and Computerized

Accounting System.

SGIH
(%)
FEIGA oG el & M 4 @ial @
7o B

Describe the advantages and disadvantages of

Computerized Accounting System.

690
AH-5136
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AH-5137

B. Sc. (Home Science)/B. Sc. (Maths/Bio.)/
B. C. A/B. A. (First Semester)
Generic Elective Course (COGE—02)
EXAMINATION, Dec./Jan., 2024-25

COMMERCE

(Business Law)

Time : Three Hours
Maximum Marks : 70

Are : g g & SR QT |
Answer all questions.
Yug—I
(Section—-A)
1. W TS T $ IR AR 10x1=10
Answer all the objective type questions :
() ocdred 31 Reifdy # argder g © :
(@) =

P.T.O.



(i)

[2] AH-5137

=)

) @i

(®) 3w

)

In case of coercion contract is :
(a) Void

(b) Voidable

(c) Illegal

(d) Legal

T 3 TR T 2EER & WeRi B A |

3999 BN ©
@) wcay
(@ wffa
@) wafe
(2) orgae

Contracts which are represented by their
action and behaviour are :

(a) Direct

(b) Implied

(c) Contingent

(d) Quasi-Contract

131 AH-8137

(i) TR a3 Rt T # 7

@) v # ¥ 7 T
How many parties are involved in Guarantee
contract ?
(@) Two
(b) Three
(c) One
(d) None of the above
@iv) Wuﬁ“ﬂﬁﬂ“\’ﬁmﬁﬁ'ﬁm%?

P.T.O.




Gt

)

[4] AH-5137
Who can use the right of general lien ?
(a) A broker
(b) An agent
(c) A banker
(d) A mechanic
7w R affeem fre af aftace o amar ?
(@) 1872
@) 1986
(&) 1930

(3) 1881

Sale of vGoods ‘Act came into effect from
which year ? ‘
(a) 1872

(b) 1986

(c) 1930

(d) 1881

(vi)

(5] AH-5137
wgrd v AR AT B Y H ORafa @
FH 217 TE B E
(@)

LR
(a) e
(\) ord
(@) &
«Breach of condition can be treated as breach

of warranty.” This statement is:
(a) True

(b) False

(c) Impossible

(d) Always

(vii)ﬁﬂ%@ﬁﬁ@ﬁé%a‘mww

fopar ST © 7
() D D
(@) @ifed 96
(@) fow ¥
@) S W

P.T.O.

b
b



[6]
Which of the following is paid in the counter
of Bank ?

(a) Bearer cheque
(b) Crossed cheque
(c) Special cheque
(d) All of the above

wii) el W T Al B ¥ fem
TR R nufld & 7

3

)
) 3

—

2

=

—

S

)
)

4

5

o)

How many minimum designated partners are

expected inan LLP ?
(@ 2
) 3
(c) 4
d 5

AH-5137

[71 AH-5137

(ix)mmﬁmwaﬂ#aﬁm

®)

arftreiRar ¥ &

Economic/financial limit to file the case in
District Forum is :

(a) upto¥ 5 lac

(b) upto T 20 lac .

(c) upto¥ 1 crore

(d) No such limit

fqTe & THHT T T T8 B € ¢

) =
R
)

=

—_
~—

§)

3 =
&

P.T.O.




[8] AH-5137
Agreements to restrain the marriage is :
(@) Void
(b) Voidable
(c) Legal
(d) Tllegal

2. PrefiRaa oy Sy e $1 IR QT :

AP 4

Answer the following short answer type questions :
() wRee @ ars feag |

Write the éxceptions of consideration.
(i) TorY argay ¥ Qi fRereT B € 7

Who has the liability in agency contract ?
Gii) aew fwar @ R @ oRwmr |

ferfRag | |

Write the rights of unpaid seller along with its

definition.
(iv) TR B aRT A |

Define Holder in due course.

[9] AH-5137
(v) CIF 3R FOB a9 # s ferfag |
Differentiate between CIF and FOB contract.
gre—9q

(Section—B)

e : TP SR W @ F P T | 7% 10
Attempt one question from each Unit.
THE—1
(UNIT—1)
3. “maﬁuwmé,mﬁvﬂasmmﬁ
& B 5 T F AR P |

«All the contracts are agreement but all the
agreements are not contract.” Explain this
statement.

T
(On)
mﬁmﬁmﬁgmmﬁﬁmn

Explaining void agreement and write its types.

P.T.O.




[10] AH-5137

TIE—2

(UNIT—2)

4 WHRT R e mewRer § o fafEw

g @ fafire TemReR &1 TRy |

Differentiate between General and
Special/Particular Lien. Explain the particular lien

of bailee.

Frorar

©n) :
TR e @1 ¥ ? UF R & dfeR AR
TR BT FHRT |

What is Guarantee Contract ? Explain the rights
and liability of surety. .

T3
: (UNIT—3)
AR e @ g ? e affa wat ek
LA Y FHISY |

' What is Condition and Warranty ? Explain various

implied conditions and warranties.

[11] AH-5137

4T

(Or)
Iwilg W aRfEm @ RS o @
IeTerdl B GHIEY UG foren BRA H gAE @
TfshaT Pl ST |
Explain the various agencies or Courts of

Consumer Protection Act and write the process of
hearing in District Forum.

TIE—4
(UNIT—4)

6. 4% @1 \@iET Y FEd § ? T WON 3

HART
What is crossing of cheque ? Explain its various
types.
Rqar
on
B T T AEER @ ¥ P 3EE Aeaq
fagwary ferRag |
What is Limited Liability Partnership ? Write the
“various features of it.
AH-5137 3,070
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AH-5043

B. Sc./B. A./B. Com./B. C. A./B. B. A./
B. Sc. (Home Science) (First Semester)
Value Addition Course (STVAC-01)
EXAMINATION, Dec./Jan., 2024-25

STATISTICS |
(Quantity Aptitude and MS-Excel)
Time : Two Hours

Maximum Marks : 35
e : o TE d I AR

Answer all questions.

Yres—3
(Section—A)

e : ol IS TE @ e S| 10%:=5

Answer all the objective type questions.
1. S 6 G&I & 40% 3R I T&A D 30% BT
gRT 708, N 98 HEAT HI-W & ?

(31) 125

P.T.O.



(2] AH-5043

@ 100

(@) 150

@ 200

If the sum of 40% of a number and 30% of the
- same number is 70, then the number is :
(@ 125

(b) 100

(c) 150

(d) 200

R

@) 39

@ 9%

@ 159

@ 219

The sum of three consecutive odd numbers is
always divisible by :

(@ 3

(®) 9

(c) 15

d) 21

[3] AH-5043

dIT ik fed) 96 § 7 8,000 9 FxaT 8, W
qie 8% WRIRYI & &1 YA vl o 8
g e g e

(@) 7 12,600

@ 10,784

(@) 7 13,120

R) % 12,545

A person deposits ¥ 8,000 in a bank which pays 8%
p.a. simple interest. The amount after 8 years will
be :

(a) T 12,600

(b) 10,784

() 13,120

d) 712545

AR B 5l oM & @ W faax 18 T ¥
T IR G6d &1 A, BY AN T G 21 B3y
I oM B e oA H [ IR GHA & 7

(@) 60 f&s1

P.T.O.




[4] AH-5043

A and B can do a work together in 18 days. A is
three time as efficient as B. In how many days can
B alone complete the work ?

(a) 60 days

(b) 72days

(c)- 54 days -

(d) 64 days

ue e @ IM R qr T ?

4,7,12,19,28,?
(@1) 49

@ 38

@) 30

) 39

What will come at the place of question mark ?
4,7,12,19,28,?
(@ 49

(b) 36

() 30

@d 39

(5]
6. algma,a+al,a+2d,....,zsrna“rua%:

@) a+nd
@ a—-(n-1)d
@) a+(n-1)d _

@ n+nd

nth term of the sequence a. a + da+2d,.

(@ a +'nd
b) a—(n—-1)d
() a+t@n-1)d

- () n+nd

g7

(3) 84%
@ 85.5%
(|) 80%

(@) 83.33%

AH-5043

.S

P, QR 6@@%,61Q,P@ﬁﬁfﬁuﬁvmma

P.T.O.

|
i



[61 AH-5043
P is 6 times greater than Q, then by what percent is
Q smaller than P ?
(a) 84%
(b) 85.5%
) 80%
(d 83.33% ‘
Wﬂ (Excel) L 'ﬂ‘% RS (text) B D e
(Coll) @ MR & wfdl 3 ST S FHhell 8 | M9

frefaRag § ¥ fbw R &1 STET o Y a)

B 8 7

(31) Wrap Textin Format > Cells

(d) Justify in Edit> Cells

(d) Text Wrapping in Format > Cells

() S el

In Excel, long text can be broken down into many
lines within a cell. You can do this through :

(a) Wrap Text in Format > Cells

(b) Justify in Edit > Cells

(c) Text Wrapping in Format > Cells
(d) Allof the above '

[7] AH-5043
9. TR ¥ (Excel Sheet) § U@ el Bl g3 IeT A
g B wicdHe Hol 71 & ?

(@) ctrl+R |
(@ Ctrl+ Shift+ R ‘
(@) Ctrl+H
(@) Ctrl+F

What is the shortcut key to replace a data with

another in Excel Sheet ?
(@) Ctrl+R
(b) Ctrl + Shift + R
(¢ Cul+H
(d Cul+F A
10, Pgex Biedle § g3 TN @ ford Sw Rl
WM dret T PI HEl T 8
(8) wiEm AR
@ fhex TR
) aifefeT < ar
) ufefeT IR

—

=

P.T.O.

P TR



AH-5043
(9] AH-5043

(8l

tool bar used to Runni
: unning at a speed of 60 km per hour, a train
passed through a 1.5 km long tunnel in two

minutes. What is the length of the train ?

In a computer spreadsheet,

construct formulas is called :

(a) Formula Bar
(b) Filter Bar "3 A P+23+30 4488 BT A T AR

. Auditing T .
(c) Auditing Tool Bar Find the value of series 13 +23 +33 + ...+ 8.

(d) Editing Bar . ’
B o wd A @ wRifa B
e @i oy Sada T @ IR g 5x2=10 BefineFicichar?
Answer all the short answer t e questions. : . .
yped 5 gl Rl <, 99 WE BT 50% U SHI &
1. Wgwaﬁ?waﬁq?vﬁﬁaﬁqﬁmﬁm BT 25% &1 AT 280 3, T T8 WA A I |
5.8 1098 a8 ToN 3R IqA T D I BT If the average of a number, 50% of that number and
Jqurd 2 :3 21| 20 a9 9IS {Fl‘(ﬁ g 1 JuId 25%‘of the same number is 280, then find the
: number.
T B ¢ -
. . Gus—¢q
The ratio of the present ages of a man and his wife A
' . . \ (Section—B)
is 5 : 8. After 10 years the ratio of the man and his |
wife’s ages will be 2 : 3. What will the ratio of their |~ ?ﬂE .l & ST yEl @ STR QNG 4x5=20
ages after 20 ycars ? - Answer all the long answer type questions.
2 TE TR o ol gfey g8 @ T ¥ T - i i @) adee g @ dm 7298 &1 W
1.5%.@@@2%7?@?&1%%& | 7f TEQ, ST Y BT ITIW 436 : 7 2| T
A g S Y|

Yo @ g @ gl ?
[ P.T.O.



10
[10] AH-5043
The sum of pre - 1
present ages of 3 persons is 72
Seven years ago, thei -
ho go, their ages were in the ratio
: 6. 7: Find their present ages. , e (Or) |
A T B et w5 B B < 2, 91 B
. ' | | |
o o ol @ T B R AT A 0E

a@mmm%lﬁmmmg‘aw

Mﬁlzﬁéﬁwﬁm%mﬁﬁm
WSO%W?EWWEE%W?

(On)
;;ZmBﬁzs%aﬁas%lBﬁmcﬁsv
81 AR AP am 2202508, ¢ @Y amg

1A DY | 4
A’s . B would have taken 10 hours more than that of A =
income i 0 3
o $ 25% more than that of B. B’s income would have taken to complete 2 task if each of
is 8% more than
that of C S them worked alone. Working together they can
¥ 20,250, then find th - If A’s income is T ’
S nd the income of C ' complete the task in 12 hours. How many bours
T 22,0 1 . would B take to do 50% of the task ?
$ 22,000, 11 ¢ 7 ¥ 2,315.25 8 I @ iR | g
& gafis 3.?1@@2631@&?3 S o4 Wl @1 AM WM
Hglg @A B wY § gARE B o
R gy W,Wnarqz%
' aﬂ X T ?}%ﬁﬁq,
l a, =3+2n
list of numbers

Find the r.
ate percent '
pCr annu : y ‘
S G0 amoune ' Find the sum of first 24 terms of the
whose nth term is given by :

to ¥ 2,315.25 i
,315.25 in
i one and half years interest being
mpounded half yearly L
. ay = gaticn
p.T.O.



[12] AH-504,

3y

(Or)
af Qs WEIRl g AR b BT AR
(Arithmetic Mean) 3R T’ﬁﬂ'\’ Hreg (Geometyi,
Mecan) $H¥HRT 10 3R 8%, l HEW ST ‘Eﬁ[ﬁﬂq‘

If Arithmetic Mean (A.M.) and Geometric Meg,
(G.M.) of two positive numbers a and b are 10 apq
8, respectively, then find the numbers.

4 MS-Excel 2007 ¥ UE T &M B T (steps)
SR afea fofag | -
Write the steps to construct pie chart in MS-Excel

2007 with an illustrative example.

Jgdar

(Or)
Spreadsheet @1 © ?-gmﬁ Ryl @l STE
afed wEgy | ‘

What is a Spreadsheet ? Explain it features With &
example.
0
26

AH-5043
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AH-5126

B. Sc. (Home Science)/B. Sc. (Maths/Bio.)/
B. C. A/B. Com./B. B. A. (First Semester)
Generic Elective Course (GOGE-01)

EXAMINATION, Dec./Jan., 2024-25
GEOGRAPHY
(Fundamental of Physical Geography)

Time : Three Hours

_ Maximum Marks : 70
Qe : @it TE b ST QI |
Answer all questions.
gueg—Ii
(Section—A) |
1wl awgfre et & 9T A 10x1=10
Answer all the objective type questions.
0 eRer-uRaerr i U
(3) ®Ive gn
P.T.O.



@ &R

(§) e
(€) s

[2] AH-5126

Nabular Hypothesis is propounded by :

@
®
©
(d

Kant
Hoyal
Molton

Laplace

(ii) ﬁﬂ?ﬁwwmmﬁaﬂamﬂ%’f%?

@)
@
(@)

e
Gkl
PEIF

@) dTRW

Which rock is not a metamorphic rock ?

@
(®
©
(d)

Schist
Gneiss
Granite .

Marble

(3] AH-5126

(iii) A @ 59 ARG R T T RS @ ?

@iv)

@) Rraret

(@) S

(@) Fo

) S i

Which interior layer of the Earth density is
maximum ?

(a) Sial

(b) Sima

(c) NiFe

(d) Al of the above

frefoiad § & -1 Wered 91 T
I TE & & ?

@) ™

@)

(@)

(1) e

P.T.O.
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[4] AH-5126
Which of the following landform does not

form due to Wind Erosion ?
(a) Mushroom

(b) Demoiselles

(c) Zeugen

(d) Sand Dunes

fmrera 5wy @1 wda @ 2

What type of mountain the Himalaya is ?
(a) Fold

(b) Block

(¢) Residual

(d) Volcanic

[51] .. AH-5126
(vi) TS B FEPICAT TARA BT Pl A &
@) e |

@ v
The short-period conditions of atmosphere is
called :

(a) Weather

(b)' Climate

(c) Environment
(d) All of the above

(vii) for[e va & ?

(@) v @

(@) weE va

(@) aRe gad
() W gaH

P.T.O.




[61]
Chinook wind is :
(a) Local wind
(b) Planetary wind
(c) Trade wind

(d) Seasonal wind

(vm) SeeT-RIaay Wﬁlﬁ -

@) wEH
@ fewe
(@) a9
@ =qw

The Delta landform is related to :

(@) Wind
(b) Glacial
(¢) Ocean

(d) River

(ix) Faife v foa arR A 8 ?

(@1) el AR
(@ 97
(@) el
@ 7

AH-5126

(9]

| (@) 9 FERTR

[71 AH-5126

Maximum salinity is found in which ocean ?

(a) Black Sea

(b) China Sea
(c) RedSea

(d) Dead Sea
Wﬁwmmﬁm%?

(@) s AEER
@) omdied W

() fe= MR

The Madagascar current is related to which
ocean ?

(@) Atlantic Ocean
(b). Pacific Ocean
(c) Arctic Sea

(d) Indian Ocean

P.T.O.



2

[8] AH-5126

Y I T (TE-4T 50) - 5x4=20

Short answer type question (word-limit S0) :
@) e e @ emEE 47 31 dhw 9o
BHIRTY |

Describe the study area of Physicél
Geography in short.

(i) P& o R wa oY Rt o wwEgd |

Explain the characteristics of Earth’s Sial
Layer.

(ili) ISR ISTH DI faUwami &1 quie PR |

Describe. the characteristics of Sedimentary
Rock. ,

| (iv) R d Ay # R & 2 W |

What is the difference between weather and

climate ? Explain. '
(v) TR SaUi @t FHIfdd PR ddl bRa!
@1 M fofag | '

Write the name of the factors affecting

Oceanic Salinity.

[9] AH-5126
Yrg—q

(Section—B)

?ﬂtiz < IR T (T5-G9 350-400) | 4x10=40

Long answer type question (word-limit 350-400).

3. Wfve i @ yga @ fw-ad @ oaoE

I |
Describe the nature and scope of Physical
Geography.

4T

(0
o B SRy wed AeRe-IReeT BT
P

Describe the Nebular Hypothesis related to the
origin of Earth.

TeeHl 1 T DAY T JFE-9ee Pl
fareryaratt & fade i |

Classify the rocks and discuss the characteristics of

Igneous Rock.

P.T.O.
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[10]  AH-5128
e
©n)
Ua RS wﬁqa ;rga et B1 o
P |

Describe the major landforms associated with the

Erosion of Wind.

qgAvsd @ i wdl @ aeEe alR S
faeiyasit @1 avie B |

Describe the structure and characteristics of

different layers of atmosphere.

3pRqar

(On)
IHAd 1§ ? IGCAHd damal Bl Seuf,
R T AR @1 auie B |

What is Cyclone ? Describe the origin, structure

and distribution of Tropical Cyclone.

[11] AH-5126
6. TENINY Wa & amae & i —m w
PRP BT a0 A | &
Describe the factors affecting the temperature of |
Oceanic Water.
AT
©n) : :
g’ @ & ? TENTRA ORRl @ Safi @
i ) A8 BRI BT 49 Bl
What is Current ? Describe the factors affecting the
origin of Ocean-Currents.
1,180
AH-5126
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AH-5611

B. A. (First Semester)
Discipline Specific Core Course (HOSC-01T)
EXAMINATION, Dec.-Jan., 2024-25
HOME SCIENCE
(Introduction to Textiles)

Time : Three Hours
Maximum Marks : 70

A : Wl ywEl & SR AR

Answer all questions.. .
| Gre—3 10x1=10
(Section—A)

Tgfadmcdig v

(Objective Type Questions)
1, qaY AfE yearerdr URl il §
@ wma@d () for e @ o o
@ UM F () ST P WA

P.T.O.



[2] AH-5611
Maximum elasticity is found in :
(a) silk fiber (b) linen fiber
(c) cotton fiber (d) wool fiber
arRafies VeI B Aifew e B @
(@) TMENegE (3) WA
(@) @ @) SlieiwEs
Fuhdamcntal structure of vegetable fibers is :
(a) Nitrocellulose (b) Protein -
(c) Cellulose (d) Oxycellulose
BIEH YT P I R
@) ¥ (@) it
(0) forme @ @
Artificial silk is known as :
(a) Rayon (b) Nylon
(© Linen "(d) Wool
A B IIR-PE Pl PR A TG |/ ...
i g < R
@) MaeR: (@) gwasR
@) wrm @) 3z A B &

131

AH-5611

Cross-scction of Nylon under microscope like :

(a) Circular (b) Curved

(¢) Glass
uifergeeR ¥ e €
LICER
e ¥
(@) o B et el
(@) wuggd § ¥ B

Polyester fibers are :

(d) None of these

(3

@@

(a) Protein fibers
v (b) Cellulose fibers

(c) Long chain polymers

(d) None of the above

TR T B T O ©
@) wua (@) fremic
(®) = e (8) WagR &mr

Long yarns are known as :
(a) Staple (b) Filament

(c) Spunyarn (d) Loop yamn

P.T.O.



AH-5611

On shuttle :

(@) Weftyamn wrapped
’(b) Warp yamn wrapped
(c) Fabric wrapped

(d) None of the above

fre) aiRat g g § R A ¥
(@) W (@) Ra T
@ cfagm . @ PU.TE

Diagonal lines seen in this weave :
(a) plain weaves (b) rib weave

(© twillweaves  (d) crepe weave
FERS faverd Rl # T 8 & ¢
(@) Sfiwfom @ (4) EEgeH @I
@ TEEE A @) Feh R

[5] AH-5611

Reducing bleaching agents have prominently :
(a) Oxygen (b) Hydrogen
(c) Nitrogen (d) All of these

10. weg& 0 Y PEd €

(@n) SerE w1 (@) <@ 3
(@) ol < (@) %~

Direct eyes are known as :

(a) Neutral dyes (b) Salt dyes
(c) Acid dyes (d) Vatdyes
gre—q 5x4=20
(Section—B)
Y IO g
(Short Answer Type Questions)
TR
(Unit-T)
UM B B G Wi R e
Write any five physical properties of Cottor;.
3reqr
or)
e W & vwfie rm @ ar § Rk )
Write about chemical properties of Jute fiber.

P.T.O.



(6] AH-5611
FPIg-11
(Unit-I1)

2 R ¥ 2 Pl AR 3 A 3 oy a7

What do you know about production method of silk

fiber ?
3Prfar
(Or)

& B WG ToRAl 3R ST W gere Sifer |

Throw light on chemical properties and uses of Wool.

SPIE-III
(Unit-Il) -
gi B T W e Yo BT U B |
Describe ‘S’ and ‘Z’ twists of yarn. '
aerar
(Or)
T et ) g AR

Classify basic weaves.

[71] AH-5611
G-IV
(Unit-1V)
U Td el Yot B aHeEd |
Explain direct and acid.dycs.
FYqT
(Or)
T IRESIE W U oy o ffy
Write a short note on basic finishes.
GUe—H 4x10=40

(Section—C)
< T v

(Long Answer Type Questions)
TIE-1

_ _(Unit-T)

fafr= el @1 favga wffewo A |

Classify the different fibers in detail.

@
(Or)

oo @ fafr RRY v e @ @ R d e
T E ?

P.T.0.




(8] AH-5611

What do you know about manufacturing process and

microscopic structure of Cotton ?

FII-11
(Unit-11)
ara-fffia Yo e P wHEnEg |
Explain man-made fiber Rayon.
e
(Or)
AT N W v ey fofag

Write an essay on Nylon Fiber.

ST

(Unit-IID)
il @ gy PR W@ I A o @ A
¥ ferfag |
Classify yams and write about their various propertics.
e
(Or)
1 W @ & R @ @

Describe Loom and different parts of Loom.

[9]

TEE-IV

(Unit-1v)

4. Mﬁﬁﬁaﬁfﬁﬁwmml

Throw light on the different methods of printing.

a7
(Or)
- 7l B AR Re a1 71 v 2 2

What is the significance of special finishes in fabrics ?

AH-5611 570
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AH-5501

B. A. (First Semester)

Ability Enhancement Course (AEC-03)
EXAMINATION, Dec.-Jan., 2024-25

HINDI LANGUAGE
Time : Two Hours

Maximum Marks : 35
A : Wit gl @ SR AR
qFT-;?I?
1. ggfddhcdrd Je : | 5x1=5
(3) fmifea # g8 v Bifey :
(i) UuRRem (i) PfaR=
(iii) ameffare (iv) e

P.T.O.



[2] AH-5501

(@) W wE-gm o oIk i BT HEE SUGE

aef 2
() W3R ¥

(i) @ SR Wnr

[31 AH-5501
(i) g T
(iii) #eredr af

(iv) TTIGHR g4I

(iii) oW SR AT @) sriemeRe Tg I B A T B
G B e o OIS
(@) “AieRM 7 @R @ A off, R 9 W qee @
T xE A TG D 5 BT A S I (i) <
&1 PR o ? (iv) oA
(i %R 2. oY S 9 ¢ 5x2=10
(i) YW () ST IR YT BT AR WG FHAY |
(iii) et ' ' (i) fadm o o1 sfw wHe §v fefaRed §
(v) Read . ¥ 5 vl & Rem TaRy
(@) i T B @ <R € (@)
() et P P () s
(m =



4] AH-5501
(iif) Preifea i @1 g w9 T
@) # w o 78 v & g
K J '
@) WWaﬁsﬁ?é@ﬁﬁsﬂ?ﬁ%‘l
(v) e e e R
(3) Reporter
(@ Ambassador
ks () Auditor
(8) Vice-Chancellor
(v) e Tty T R A
A
Al i | 4x5=20

3. ERePR WU @ @Afia W@ Pl o1 uRe <d §
'WWWWWWWW|

[51]
7eq7

A 3R yraREd @ °eAT 7 HRIEN TE B oiad @
T BT Ui DI

s W D UER P WE IR T R AR D A B
AIeTEReT GHeTSV |

3repar

A B IR qaTd §Y I90 Wel Bl SeTeRV wfed
AT |

5. W A TR @ PR & TEd P Y@ifed v gy
ST SR B AT T A |

[T

TRYRe T | T I € ? TRhiite T @
Rt e | :

P.T.O.



(6] AH-5501

6. W Rer MY, 2020 Aw ® @ wRhfa g

ferRaw |

3rErar
ﬁﬂﬁ{f@ammsﬁﬁmmwz
@ e g @ TR ¥ T 3
e § ey e o @9 ¥ ok afire Wag Wy
frred @1 HROT A T &1 AT T N IS A,
s AT 7% v 8 o ¥
R G @ G @ w ¥ g @ ad [
i @, w87 A oK | s 9 BT @ g
SR 7 W o B O ST A § | @ TE T
R g o @ e & R g I o 8
¥ QR B a9 Pred @ o, I THE G D
fory & Sad @ & ok T§ SAEed WA @l
3T TF B Uga el ol |

. [7] AH-5501
@A GE A wwr g afedd am @, dfe 7
E B A AR 4 G T ofem st e
9, Té-udai G, gy-ufti a% @ w9 B 2| TEh

AH-5501 18,740
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AH-6001

B. A. (First Semester)
Discipline Specific Core Course (HNSC-01)
EXAMINATION, Dec./Jan., 2024-25

HINDI LITERATURE
f%’aﬁ qifedd &1 Ef?ra'm (amﬁma ¥ AP am)
i SR

"

Time =1 nree Hours

Maximum Marks : 70
qre @ gl g & IR QY|
v
(Section—A)
q1e : 941 e 9l & IR IR | 10x1=10
1. ‘el wifecd &1 gfdery fdeiar v g ?
(61) Tl RETers; el

P.T. O,



[2] AH-6001

T B T o A E 2

@) forg e
@ T
@) Ta R
(@) T wie

(31 AH-6001

P.T.O.



AH-6001
(51 AH-6001

12. B B TG R Foprer SifQ |

) o 13.wvﬁwﬁwaﬁuqﬁrﬁa$ﬁﬁ§m
@) )
(@) @A 14. W@ & W Bt @1 T TaEy|
(@ o e G%—3q
o o Wit an wnd g ol e € 7 (Section—B)
S}) 3;;:; . e N Sl e S SR AR dx10-40
@ R 15. R\ Wit & shem e & ww | Py
R) o o |
10. dfrere B AR N AW o e ? g
@) ST o= witew & sfter & R et & e
(@) S R T & ? fRyds fofag )
S)) g 16. R # FE GRA T TE FRE R TR
qﬁz:ﬂﬁﬂ@ﬁﬁﬂﬁa\?w?ﬁmP 4x5=20 S '
1 R wRw @ sew § o fem @ -
T Y P R RS e s

P.T.O.



| (6] AH-6001
17.ﬂﬁﬂﬂ7faﬂqﬁaﬂf\{ﬁ§§3ﬂquﬁa—ﬂ
ferfRay |
DGl
TOT ARRRT ) frSiwereit @1 qof BT |

18, difeyeprer @y fadaall W geprer et |
| Jreran
e & W@ oadl e 9@ XAl |
arrsiell W e aere fefeg |

13,020
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AH-5791

B. A. (First Semester)
Discipline Specific Core Course (PSSC-01)
EXAMINATION, Dec.-Jan., 2024-25
POLITICAL SCIENCE
(Introduction to Political Theory)

Time : Three Hours

Maximum Marks : 70

e : 99 i & IR AR

Answer all questions.

Yus—y
(Section—-A)
qgfaacdiy wea 10x1=10
(Objective Type Questions)

e @l geHl @1 g B @ | Wi ueel B 3ih W R

All questions are to be attempted. All questions carry

equal marks.

P.T.O.



1.

[2] AH-5791
IR Re @) e @ feg @ w8 & :
(@) wdar ot @ e
(@) g "9 P T
(7) wfR=arh & o awar
() e 31 apra

This is not an argument against the scientific nature of
Political Science : |

(A) Lack of universally accepted facts

(B) Lack of accurate measurements

(C) Ability to predict

(D) Lack of'testing

AEHT A Ol oM @ 9N MR a5 5 W
B A TR 2P

[31 AH-5791
Simon has given four bases for following the authority.
Which of these is not true ?
(A) Belief
(B) Uniformity
(C) Effects
(D) Legality
2ENAE @ E Hfed qH W § -

(@) wie
@ @&
@) fa@m
(8) s g

He is considered to be the main proponent of
Behaviorism :

(A) Plato

(B) Rousseau

© Willoughby

(D) David Easton



B o

A a4 v
[4 l AH_B191 ( o ‘ 4 "1 e
T Rrgra & wwefe w8 § Who said that “lLav js the commar
(31) e soveregin” ?
(A) Pound
(@) e s ) Salmond
(C) Austin
@) TR ' (D) Laski
@ war e.-shasmwmﬁma‘szﬁrﬂ%:
(&) foren 7 <A Fea w
............... is not a supporter of the theory of Social (@) oI D FHaTRR DI IO
Contract.
(|) we gER
(A) Hobbes Q «
T Gq’éﬂﬁ
- (B) Lock
ek These are the functions of a Welfare State -
(C) Garner (A) Edgcation and health related work
(D) Rousseau : _ ®) To raise the standard of living of people
‘ (C) Social reform

"B TR B AT R [ T8 R e R ? (D) All of the above

@) uevs £ A— T 1 A T T
(o) eIl
(8) wmUs o
) siftes ) Rorsi
() ot (&) o i



(o) AH=8791 (71 AH-5791

............. is not a sign of sovereignty. From which language did the word ‘democracy’
(A)  All comprchensiveness et

originate 7
(B) Permanency

(A) Latin

(C) Divisibility

(D) Exclusiveness

(B) Greek

e TARER Raw 4 T i & ? (© French
@) 10 R (D) Turkish
@ 10 o 10, weda T goneh § arafds w faed M Ed
€ 10 B LK
@ 10 = (@) wrgafa
When is the ‘World Human Rights Day’ celebrated ? (@ =2
(A) 10 December
(B) 10 January @) e
(C) 10Feb
(D; 10 Mz&rcn‘:u.y o (a) qﬁmﬁw
S T @ o B Gt 3 §'§‘ ? ) In a parliamentary system of Government who holds
o) . the real power ?
(A) President
@ *= (B) Parliament
(-‘q) %4 (C) Prime Minister

(3) gﬁ (D) Council of Ministers



(8] AH-5791

Yre—4 [91 AH-5791"
(Section-B) Y- |
oY ST T 5%4=20 (Section-C) ;
o s g 4x10=40 '

(Short Answer Type Questions)

A : W g B g Hxn e &) @ g @ 3E
T4 T

(Long Answer Type Questions)
A Tl g B e By & | W T B e T €

: All questions are to be attempted. All questions carry
All questions are to be attempted. All questions carry : equal marks.

1, 1 P RV, YR g GHEAT BT qUH Biteg |

equal marks.

1. Yf @1 of wd IS W BT g HIY |

Describe the concept, types and limitations of

Describe the meaning of Power and its source. authority.
2. ITR-YIBRAE B g RLwarei a1 o AR | S '
Describe the main features of post-behaviorism. ©)

3. YAl GREV D SUT BT quie AT | IO RS @ wRREE segEE ugfadl @1 avid

DI |
Describe the measures to protect freedom.
) Describe the traditional study methods of Political
4. I B @ SART B Rigra @1 favew B | ~ Science.
Analyse the theory of divine origin of the state. 2 U @ o AR T oA B s T
5. fenfder @ arit @1 avfF @i qofT |
Describe the functions of the Legislature. Define the state and describe the essential elements of
the state.



[10] AH-5791
ey
(Or)

Ui Y |

Describe the meaning and main characteristics of a

public welfare state.
T A AR FER 1 v HR
Describe the concept and types of justice.
peqar
(Or)
yoicE ® o, YPR g feiaatt $1 v S|

Describe the meaning, types and characteristics of

democracy.

W?ﬁuwm;ﬁﬁs‘rmaﬁa%mwsw%

o1 g A 1 faeerw S

Analyse the merits and demerits of the parliamenfary

system of government based on its characteristics.

111 AH-5791

3oqr

‘ (0r)
S @1 e aaRY @ o P @ B

it

. Describe the meaning of public opinion and the

elements of public opinion formation.

16,460
AH-5791
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AH-5701

B. A. (First Semester)

Discipline Specific Core Course (SOSC-01)
EXAMINATION, Dec.-Jan., 2024-25
SOCIOLOGY
(Introduction to Sociology)

. Time : Three Hours

Maximum Marks :70
qie : 9 g B SR QR
Answer all questions.
Yus—3
(Section—-A)

qgfddhedid 7e 10x1=10

(Objective Type Questions) |
Ae : Ty g der i € | uRd ue A 1 3@ §
All questions are compulsory, carrying equal 1 mark.

P.T.O.



1.

121 AH-5701

WIS 1, Sed fo < W g3 7
(@) wiw @ sRa
(@) €) Twive

In which country Sociology emerged ?
(A) France (B) America
(C) Germany » (D) England

IO & b D E 7
(@) e T (@ &
@ oRw (@)
Who is the father of Sociology ?
(A) -Auguste Comte (B) Weber

(C) Karl Marx D) Pafsons_ ‘
JRerfty e U W R TER A BN R
@@ @

(@) & (@) o

There are how many major types of Status ?
(A) Three (B) Four

(C) Two (D) Five

131 © AM-STO1
4. Prfrfefa # F PR TG W TR FE
T8 ?
(@) dRue smen @) W @D
(@) fepgiraen (@) faars wen
Which is not a main stage of Socialization ?

-(A) Oral stage (B) Anal stage
© Adolescence (D) Marriage stage

5. URER B fadw @
'(a)ﬂﬁﬁ\ﬁm

(@) WEEE JER

(@) e T

@ wEmE .
Characteristic of family is :
(A) Universality

(B) Emotional Basis

(C) Formative Influence

D) Al of the above

6 o T dE @ B T e TRAm R ?
(@) TER @) A
(@) o 7@ @) 2R

P.T.0.



AH-6701
(4]

“Caste is a closed class.” Who's definition is this ?
(A) Majumdar (B) Shriniwas

(C) Charles Cooley (D) Ghurye

C ot A R R

(®) oo (@ @
@ TawR (@) S

Characteristic of class is :
(A) Equal status (B) Class consciousness

(C) Openness (D) All of the above

.mmﬁmwwmﬁ

e R e 2
@) @ FEm (@) Foraa A
(8) = g () TRRE TR

Who divided social control in types of positive and
negative ?

(A) Karl Manheim (B) Kimball Young

(C) Charles Cooley (D) Gurvitch and Moor

. QIS WYY & HER §

(@) fem (3 amg
(@) wonf (2) Swaw i

(5] AH-5701
Bases of stratification are :
(A) Gender (B) Age
(C) Races (D) All of the above

10, wrfora afada & gz figr= e 2 7
(&) ¥
@

(®) @ (&) w@ @)

Egeip]
EEdD

7)) T @ @ A
Which are the major theories of social change ?
(A) Linear
(B) Cyclic
(C) Both (A) and (B)
(D) None of the above
gre—d
(Section-B)
Y I T 5x4=20
(Short Answer Type Questions)
A TG TH FF N JCER T TS T 4 IS
R
All questions are compulsory. Each questions

carries equal 4 marks.

P.T.O.



161 AH-5701
1. wqe @ foRany fefag
y Write the characteristics of community.
) Rt ¥ o T R ¥ ? Wl v war
s fafaT |

" What do you understand by culture ? Differentiate -

between culture and civilization.
3. e @ R yoRt @ avH S|

Explain various types of cooperation.
4 wRTS fEEn & Hed fared |

Write the importance of social control.
5. IR W B Ry g |

Explain the characteristics of social stratification.

@E—-ﬂ
(Section—C)
ad o T . 4x10=40
(Long Answer Type Questions)

e : mwwmm%m@mmwm
1 3| we g § feed &1 YA &1

All questions are compulsory. Each question carries
10 marks. Each unit has a provision for options.

1, AT @ g Ao fasmE § dad @ g

[7] AH-5701
ZHIE—1

(Unit-1)

PIFTY |

Discuss the relation of sociology with other social

sciences.
3eIq7
(on
wifere aReift Td fier § s e
Write the difference between social status and role.
T2
(Unit-2)
TR B GfHaT @ HEEl B aArEn iy |

Explain the process and agencies of Socialization.

3eIq7
(Or)
AR @t foRvar vd wew forlag |

Werite the characteristic and importance of family.

P.T.O.



[8] AH-5701
FhIE—3
(Unit-3)
3 Wi amw qur wwg & ? onfa vd af # efer e
PTG |

What do you understand by Caste ? Differentiate
between Caste and Class.

3eqr
(On)
wed & Rt FoRi @1 v B
Explain various types of conflict.
| s
(Unit—4)
4. TSP WRIDGRY & T SRR HT 01 BT |
Expla-in the major bases of Socia] Stratification.
| arerqr
(Or)

Ao aRaas @1 aRvmr faRed 1d gae) rauRen
@ fade=r BT |

Write the definition of social change and discuss its
concept.

AH-5701 | 12390



